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QUESTION 1 

Identify the true statement about configure script. 

 

A. It depends on make to create the Makefiles. 

B. It creates the necessary Makefiles based on the user information. 

C. It creates the required directories and subdirectories on the system. 

D. It does not depend on the autoconf tool for the package installation. 

 

Correct Answer: B 

 

 

QUESTION 2 

You have logged in as a normal user bob and use write and wall to chat with other users. How are 

you able to chat with other user terminals? 

 

A. because the SGID bit is set on both the write and wall commands, and the group ownership 

is set to root 

B. because the SUID bit is set on both the write and wall commands, and the group ownership 

is set to tty 

C. because the SUID bit is set on both the write and wall commands, and the group ownership 

is set to root 

D. because the SGID bit is set on both the write and wall commands, and group ownership is set 

to tty 

 

Correct Answer: D 

 

 

QUESTION 3 

The user smith issued the egrep "^[[: upper:]]" words.txt command. What does this command 

do? 

 

A. displays all lines in the words.txt file that contains an uppercase letter 

B. displays all lines in the words.txt file that begins with an uppercase letter 

C. displays all lines in the words.txt file after translating uppercase letters to lowercase 

D. displays all lines in the words.txt file after translating lowercase letters to uppercase 

 

Correct Answer: B 
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QUESTION 4 

User smith on station2 is trying to chat with the remote user bob on station1 using the talk 

command, smith receives an error message as shown below: 

 

[smith@station2 ~]$talk bob@station1.example.com 

[No connection yet] 

[ Error on read from talk daemon: Connection refused ] 

[smith@station2 ~]$ 

 

What can the root user do to resolve the issue? (Choose two.) 

 

A. let smith retry talk by reading from STDIN and sending to bob 

B. let smith retry talk after changing the group of talk command to tty 

C. let smith retry the talk request with UDP port 518 open on both systems 

D. let smith retry talk after restarting the xinetd service with ntalk enabled on both systems 

E. let smith retry talk after restarting the network service with the UDP port 517 blocked on 

both systems 

 

Correct Answer: CD 

 

 

QUESTION 5 

Which command could user smith use to change the time stamps of the file1 and dir1 given 

below, to the current system time? 

 

[smith@server1 ~]$ Is -I 

-rw-rw-r--1 smith smith 6 Jan 20 10:01 file1 

drwxrwxr-x 2 smith smith 4096 Jan 20 10:54 dir1 

 

A. cat 

B. stat 

C. time 

D. file 

E. touch 

 

Correct Answer: E 
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QUESTION 6 

The /projects directory is being shared by server1 with the share name datashare through samba. 

To access the shared directory as bob you issue the following command: 

 

smbclient //server1/datashare -U 'bob%foouser' 

 

What happens when you execute the command? 

 

A. All the samba shares on server1 will be displayed. 

B. Bob will be prompted for a password to access the share. 

C. All the shares on server1 accessible to bob will be displayed. 

D. The share will be accessed with the credentials of bob without being prompted for a 

password. 

 

Correct Answer: D 

 

 

QUESTION 7 

What would be the output of the nested for loop given below? 

 

for(( r=1; i<=5; i++ )) 

do 

for(( i=1; j<=i; j++ )) 

do 

echo -n "$j" 

done 

echo " " 

done 

 

A. 1 

12345 

 

B. 12345 

 

C. 12345 

12345 

12345 

12345 

12345 

 

D. 12345 

12345 

 

Correct Answer: A 
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QUESTION 8 

Why is a Linux operating system always developed and released under a common standard 

known as Linux Standard Base (LSB)? 

 

A. to avoid interoperability 

B. to avoid POSIX Compliance 

C. to ensure application-level diversity 

D. to ensure compatibility among distributions 

 

Correct Answer: D 

 

 

QUESTION 9 

Match the following shell special characters with their usage: 

 

1. \    a. used in pairs to quote other special characters so they will not be interpreted by the 

shell or to embed blanks 

2. ' ?   b. variable substitution 

3. {} ~  c. used to escape the special meaning of the next character 

4. $    d. wildcard file name expansion 

 

A. 1-c, 2-b, 3-a, 4-d 

B. 1-b, 2-d, 3-c, 4-a 

C. 1-c, 2-a, 3-d, 4-b 

D. 1-c, 2-a, 3-b, 4-d 

E. 1-d, 2-a, 3-c, 4-b 

F. 1-d, 2-c, 3-b, 4-a 

 

Correct Answer: C 

 

 

QUESTION 10 

As an administrator, you mounted the /exports/projects NFS exported directory from a server on 

a LAN using the default NFS settings. You find the performance to be low. Which NFS mount 

options can you use to increase the performance? 

 

A. set rsize=8192 and wsize=8192. 

B. set rsize=32768 and wsize=32768. 

C. set wsize=8192 and keep the read packet size at the default. 

D. set rsize=8192 and keep the write packet size at the default. 

E. set rsize=32768 and keep the write packet size at the default. 

F. set wsize=32768 and keep the read packet size at the default. 

 

Correct Answer: A 
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QUESTION 11 

A normal user sends a print job to the default printer but later finds the print queue is big and 

decides to cancel the job. What would the user do to perform this task? 

 

A. The user has no permission to view job numbers using the jobs command and hence cannot 

delete the job. 

B. The user can know the job number but cannot remove the job as he has no permission to 

use the Iprm command. 

C. The user has to list the job using Ipq and remove it using the command Iprm with the job 

number as the argument. 

D. The user has no permission to view job numbers using the Ipq command and hence cannot 

delete the job. 

 

Correct Answer: C 

 

 

QUESTION 12 

Where do the manual (man) pages for all commands reside in the File System Hierarchy (FSH)? 

 

A. /usr/share/man 

B. /usr/s ha re/info/man 

C. /usr/man/share/locale 

D. /usr/share/locale/man 

 

Correct Answer: A 

 

 

QUESTION 13 

Which statement is true about the files and directories created inside the /project directory that 

have 2777 permissions? 

 

A. All files and directories will have the same group as that of the /project directory. 

B. All files inside the /project directory will have permissions set to 2644 and the subdirectories 

will have them set to 2755. 

C. All files and directories will have the default group set to the primary group of the user who 

creates them in /project directory. 

D. All executables inside the /project directory will run with the effective group ID (EGID) of the 

group of the /project directory. 

 

Correct Answer: A 
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QUESTION 14 

As the root user on station1, you are trying to administer a printer, configured on the server1 

server using CUPS, through a browser. Which two statements holds true in this context? 

(Choose two.) 

 

A. CUPS uses port 630. 

B. Public access provides only read access. 

C. By default, CUPS accepts connections only from localhost. 

D. Administering CUPS from a remote system does not require any authentication. 

 

Correct Answer: BC 

 

 

QUESTION 15 

View the Exhibit. What does the case statement do in the script? (Choose two.) 

 

 

 

A. exits the script if 0 is supplied as the input 

B. executes like a series of if-then-else statements 

C. prints all output of all commands on standard output 

D. executes the last echo statement if 0 is supplied as the input 

 

Correct Answer: BD 

 

 

QUESTION 16 

You want to customize the default background color in an X window system using command-line 

options. What would you do to achieve this task? 

 

A. Edit the ~/.xinitrc file. 

B. Edit the ~/.Xdefaults file. 

C. Edit the ~/.Xresources file. 

D. Edit the ~/.Xauthority file. 

 

Correct Answer: B 
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QUESTION 17 

View the Exhibit. You have logged in as the user bob and now you want to send a message to 

smith and check if he is logged on to the system by using the w command. You find smith logged 

in to two terminals, so you send the message using the write command without specifying 

smith's terminal. To which terminal is the message sent? 

 

 
 

A. the terminal with the least idle time 

B. the terminal with the maximum idle time 

C. to smith's last login terminal irrespective of the idle time 

D. to smith's first login terminal irrespective of the idle time 

 

Correct Answer: A 

 

 

QUESTION 18 

Match the print commands with their functionalities. 

 

1. Ipq    a. printer control program 

2. Iprm   b. Send a job to the queue to be printed. 

3. Ipr     c. Remove a job from the queue. 

4. Ipc     d. View the contents of the queue. 

 

A. 1-a,2-c,3-b,4-d 

B. 1-a,2-b,3-c,4-d 

C. 1-d,2-b,3-c,4-a 

D. 1-d,2-c,3-b,4-a 

 

Correct Answer: D 
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QUESTION 19 

View the script given below: 

 

for i in $(seq 5) 

do 

echo $i 

done 

 

What is the output of this script? 

 

A. 1 

B. 5 

C. 1 2 3 4 5 

D. 5 4 3 2 1 

 

Correct Answer: A 

 

 

QUESTION 20 

You have to start a process in the bash shell and at the same time want to work in the shell. How 

would you achieve this without terminating the process? 

 

A. Press [Ctrl] + [y] while the process is running. 

B. Press [Ctrl] + [d] while the process is running. 

C. Press [Ctrl] + [z] while the process is running. 

D. Press [Ctrl] + [c] while the process is running. 

 

Correct Answer: C 

 

 

  

http://www.ensurepass.com/1z0-402.html


The Latest 1Z0-402 Exam ☆ Instant Download ☆ Free Update for 180 Days 

Guaranteed Success with EnsurePass VCE Software & PDF File 

EnsurePass.com Members Features: 

 

1. Verified Answers researched by industry experts. 

2. Q&As are downloadable in PDF and VCE format. 

3. 98% success Guarantee and Money Back Guarantee. 

4. Free updates for 180 Days. 

5. Instant Access to download the Items 

 

View list of All Exam provided: 

http://www.ensurepass.com/certfications?index=A 

 

To purchase Lifetime Full Access Membership click here: 

http://www.ensurepass.com/user/register 

 

Valid Discount Code for 2015: JREH-G1A8-XHC6 

 

To purchase the HOT Exams: 

Cisco CompTIA Oracle VMWare IBM 

100-101 640-554 220-801 LX0-101 1Z0-051 VCAD510 C2170-011 

200-120 200-101 220-802 N10-005 1Z0-052 VCP510  C2180-319 

300-206 640-911 BR0-002 SG0-001 1Z0-053 VCP550  C4030-670 

300-207 640-916 CAS-001 SG1-001 1Z0-060 VCAC510 C4040-221 

300-208 640-864 CLO-001 SK0-003 1Z0-474 VCP5-DCV RedHat 

350-018 642-467 ISS-001 SY0-301 1Z0-482 VCP510PSE  EX200 

352-001 642-813 JK0-010 SY0-401 1Z0-485  EX300 

400-101 642-832 JK0-801 PK0-003 1Z0-580   

640-461 642-902   1Z0-820   

 

 

 

http://www.ensurepass.com/1z0-402.html
http://www.ensurepass.com/microsoft.html
http://www.ensurepass.com/cisco.html
http://www.ensurepass.com/comptia.html
http://www.ensurepass.com/oracle.html
http://www.ensurepass.com/citrix.html
http://www.ensurepass.com/apple.html
http://www.ensurepass.com/certfications?index=A
http://www.ensurepass.com/user/register
http://www.ensurepass.com/cisco.html
http://www.ensurepass.com/comptia.html
http://www.ensurepass.com/oracle.html
http://www.ensurepass.com/VMWare.html
http://www.ensurepass.com/ibm.html
http://www.ensurepass.com/100-101.html
http://www.ensurepass.com/640-554.html
http://www.ensurepass.com/220-801.html
http://www.ensurepass.com/lx0-101.html
http://www.ensurepass.com/1z0-051.html
http://www.ensurepass.com/VCAD510.html
http://www.ensurepass.com/C2170-011.html
http://www.ensurepass.com/200-120.html
http://www.ensurepass.com/200-101.html
http://www.ensurepass.com/220-802.html
http://www.ensurepass.com/n10-005.html
http://www.ensurepass.com/1z0-052.html
http://www.ensurepass.com/VCP510.html
http://www.ensurepass.com/C2180-319.html
http://www.ensurepass.com/300-206.html
http://www.ensurepass.com/640-911.html
http://www.ensurepass.com/BR0-002.html
http://www.ensurepass.com/sg0-001.html
http://www.ensurepass.com/1z0-053.html
http://www.ensurepass.com/VCP550.html
http://www.ensurepass.com/C4030-670.html
http://www.ensurepass.com/300-207.html
http://www.ensurepass.com/640-916.html
http://www.ensurepass.com/CAS-001.html
http://www.ensurepass.com/sg1-001.html
http://www.ensurepass.com/1z0-060.html
http://www.ensurepass.com/VCAC510.html
http://www.ensurepass.com/C4040-221.html
http://www.ensurepass.com/300-208.html
http://www.ensurepass.com/640-864.html
http://www.ensurepass.com/CLO-001.html
http://www.ensurepass.com/sk0-003.html
http://www.ensurepass.com/1z0-474.html
http://www.ensurepass.com/VCP5-DCV.html
http://www.ensurepass.com/redhat.html
http://www.ensurepass.com/350-018.html
http://www.ensurepass.com/642-467.html
http://www.ensurepass.com/ISS-001.html
http://www.ensurepass.com/sy0-301.html
http://www.ensurepass.com/1z0-482.html
http://www.ensurepass.com/VCP510PSE.html
http://www.ensurepass.com/EX200.html
http://www.ensurepass.com/352-001.html
http://www.ensurepass.com/642-813.html
http://www.ensurepass.com/JK0-010.html
http://www.ensurepass.com/sy0-401.html
http://www.ensurepass.com/1z0-485.html
http://www.ensurepass.com/EX300.html
http://www.ensurepass.com/400-101.html
http://www.ensurepass.com/642-832.html
http://www.ensurepass.com/JK0-801.html
http://www.ensurepass.com/pk0-003.html
http://www.ensurepass.com/1z0-580.html
http://www.ensurepass.com/640-461.html
http://www.ensurepass.com/642-902.html
http://www.ensurepass.com/1z0-820.html

